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FMN: SAMNEZAC

MM XHIss TATHMAIY ZEX(ZATHA)
Sl EHX MMAIE (ZE2AIY) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
T Al XH A =& E 2,062,880 273,110 1,789,770
Xl 792,000
Al 496,000
- 774,880
NEIIss TATMUAIY =& (S AITHA) 2,016,790 225,320 1,791,470
Xl 792,000
Al 496,000
- 728,790
FHX THMAIS (EEALY) 1,584,000 156,000 1,428,000
Xl 792,000
Al 396,000
- 396,000
TAMEESHINS (BAUHSI D L =O{X THAHAIY) 1,584,000 156,000 1,428,000
N 792,000
Al 396,000
3 396,000
401 Al HI L 2 0HHI 1,584,000 106,000 1,478,000
Xl 792,000
Al 396,000
- 396,000
01 A& H| 1,584,000 106,000 1,478,000
O24Uen 23 T2 IMEAY 1,007,000
Xl 503,500
Al 251,750
- 251,750
OBAHsn 22 JIZsHHLAY 577,000
Xl 288,500
Al 144,250
- 144,250
QAESE TAITHMAIY =& 431,790 65,820 365,970
Al 100,000
5 331,790
N2 A F=EAHEF 22 ALY 300,000 0 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
01 Al& B 300,000 0 300,000
O3YaxZE Ss=ed FHEE 22 ALY 300,000
=02 2= 4,640 5,000 A 360
201 et d| 2,640 0 2,640
02 222%4| 2,640 0 2,640
OH=SHEH 2222 2,640
—-0leILf #H=EHH 1,200
-HEY #HEHH 1,440
203 SR F & 2,000 0 2,000
03 AIZH =X 2= X H| 2,000 0 2,000
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M XEISS TAHMAY FE(ZAITHA)
ol RIEE TAMAIY FA CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEETE=EEIEEES 2,000
SNBSS ALY 22,150 60,820 A 38,670
201 Lt 15,150 18,050 A 2,900
01 At 22l 14,000 16,900 A 2,900
OZANMY 2 U2 2+ 3,000
OZ2XZ(PPT) A= 6,000
OZ2 ALY AT M= 10,0003 1005 1,000
OgRE ZHEZeld EH 7Y
200,000 » 104 2,000
Oosge M 500,000& =4 0H 2,000
02 =224l 1,150 1,150 0
O3&xE NS IHAl 150
O3EXE s 1,000
203 YR =&l 2,000 2,000 0
03 AIMF=XH R =AH| 2,000 2,000 0
OEAMIHY FRF2 2,000
401 AIEHI L 2 CHYI 5,000 0 5,000
01 A& HI 5,000 0 5,000
OZANTHEAIY AIEE S RAE=H 5,000
DISSSH JELSAY 5,000 0 5,000
201 Let24d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OltsssH d&ds 228 24 5,000
4 282 FAUEH ZdAY 100,000 0 100,000
Al 100,000
401 Al HI K 201 I 100,000 0 100,000
Al 100,000
01 A& Bl 100,000 0 100,000
O 2tz =0UdEH LAY 100,000
Al 100,000
MHEHI ST ALY =& 1,000 3,500 A 2,500
N3 AXSE HEHEAAME XI& 1,000 3,500 A 2,500
201 L4l 1,000 1,500 A 500
01 At 2t 2l 1,000 1,500 A 500
Os=28 M= 1,000& * 1,000 1,000
HE2IZHI (ZAITHA) 46,090 47,790 A 1,700
Jl2Z3l 46,090 47,790 A 1,700
JlE2&l 46,090 47,790 A 1,700
201 Let24E] 9,490 9,490 0
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01 At 22l ] 9,490 9,490
OZeH U 2,880
=M 160, 000! *2CH *4H 1,280
-2y 200, 000! *1CH »444 274 1,600
O=SASH P 1,210
- 20,0002 %508 A 1,000
- A3 21,0002 %108 A 210
2hA2AI 242 10,0002 * 10 * 122 1,200
OAZQIZ RS Al 7,0008 x541x 102 * 128 4,200
202 048l 33,600 33,600
01 2ot 33,600 33,600
O 01 b 280,0008 ¥ 102 * 128 33,600
203 AR =T 3,000 3,000
04 BN2HARETY| 3,000 3,000
ORN2YARETY| 250,000 * 122 3,000




